ger all nbjzcﬁve questions only in 0MR sheet afﬂfe amwei' &Mkm b
v to the objective type questions on sheet other than amm&mwﬁf HB‘#- he ﬁakmd.
PART — A

Chnase the nght ansSwer :
19 The n™ derivative of log(ax + b) is

n-l ! FaNn=1cy AT _1yn-t
e e g ) e o Dta’
VA (ax +b)" (ax +b) (ax+b)" (ax +b)™*
- A ii) The angle between the radius vector and the tangent for the curve r=a is
Al Ayl m B) 323 C) % D) ZERO
n 2. AN
o g‘xh D
A)  2(n) B) 2nx*""' C) 2n)! D) 2nx*"?
iv) If A (p,r)is a point on a curve in pedal equation, \{Fe}bp refers to,
EA) WY .:.Q

B) .[1+ ( d:”} - Q’)
dx (2
C) Perpendicular distance betweeq(ﬂ}: point A and the tangent to the curve at A.
D) Perpendicular distance be{w ¢y the origin and the tangent to the curve at point A.

: (04 Marks)
b. Find the n™ derivative of r—<§}1 2% +3) + e + (5x — 3)"% + 4}{:_ = (04 Marks)
Ea il — Sm lng(x +3x” + 3\ 1) shuw that '
(x + 12wz + @0+ 1) & + 1) your + (@ +9yn =0 (06 Marks)
s d. Fmd the angle between the curves r=a sec’ [%) and r=b cosec’ (3) | (06 Marks)

2 a Choose the right answer :
1) If u = Sin(x + ay) + Cos(x — ay) implies uyy = a° uy then u = f(x + y) + gx - y)

A,) My, + =0 B) xuy + yuy = u C)xux+yuy=-u D)y = U

f_} ‘then u is homogeneous function of order,
D




S : ﬁsh i ﬁnd the: percentags changem tha vniume ﬂf fiie’b‘allbm )4 IV
e onlod wou Lot ot
_:'L:;;E-;.?" .’w then ﬁnd 1) x‘”};}?”ﬁ ; 1) Ex':_ 63'('3 0y --._.j R
2L = d[x'y]
NI S e 3 u,v :
D -y, v 2xy, find 3[—};] DX TR B e
o o 3 ﬂSEﬂle I'ight ANSWEr .
_:-' o : :"E;:z : e
= The value of I Cos’ [—) do is
x e N
4 2 2 4
A S C) —= D) —m
- 3 B) ) 3 3
ii)  The curve xB+yT=ais symme.tnc
A) Only about x — axis B) About both x and y axes
C) Only about y — axis D) About the line y =x
mf2
i) If I, = Itan xdx and I, = _{cﬂt xdx then
/4
A) =1, +n/4 B) =1 -7n/4 C) I] =I5 D) I} =20
iv) The reduction formula of _[sec xdx 1is
A) tan x sec™ x+11—~2] B) tang-; Q‘ n I
n-—1 e Bt ,) n—2 Loz
¢ seo X -l i seci X OGS (04 Marks)
n—2 n-2 " } n-—1 =]
b. Obtain the reduction formula for jglg’f;x\dﬁs (04 Marks)
o0 b
c. Evaluate _[ 2 \5 (06 Marks)
(L x*)
d. Trace the curve 3ax” = y(y \5 (06 Marks)

4 a. Choose the right answer :

i)  The perimeter of the curver = a is
A) 4a B) ma C) 2a D) 2na

i) If v;and v, are volumes of the solids of revolution got by rotating respectively, ‘the
parabola y* = 4ax, above x —axis, between x = 0 to x = 2a’ and ‘the same parabola
y* = 4ax both above and below x — axis between x = 0 to x = 2a’ then
A) v2=2v; B) vo = 4vy CO)va=wvy D) None of these

~1i1) If the axis of the revolution is the y — axis then the surface area of revolution is

v X4 2
A) jZnyds B) jands C) J-Zn 1+[§}’] dy D) _P'n: l+[%} dx

X
: b4
vy The a:aa bﬂunded by the curve in polar frcrnn is

p |r ce tﬂ&hﬁn
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Orﬂy function mfy ¥ B) lnly functi -:'-'- nof x
s ) Function of x and y - D) Function of dyf’dx

i) The differential equation %+1 =0 can be solved

P 1 X

‘A) Only by variable separable, or exact method

B) Only by homogeneous or linear d.c. method

C) By all the methods mentioned in (A) and (B)

D) Only by variable separable method.

iv) The differential equation (x —2)dy = (2 — y)dx is

A) Only R.H.S. exact B) Only L.H.S. exact

C) Not exact D) Exact d.e. (04 Marks)
|, iyt ) O
e C _S = (x+1)2. (04 Marks)
Si; b. Solve Cosy— = iny P (x+1) 3&(\,
. Solve (y e +4x° )d}{ +(2xy e? -3y )dy e o) (06 Marks)
d. Find the orthogonal trajectory of r=a (1 + C(Q!@) (06 Marks)

" 6 a. Choose the right answer :

>‘"> et (me)
i)  For a series of positive te g does not tend to zero then the

n— o
3 \ n=l
- series 18, ; :
| A) Convergent - \%) Cannot conclude C) Oscﬂlatnry D) Divergent
ii) If positive term series Z u, Zv both are divergent then Zl:u - Zv
'- n=l n=
fi_-* R A) Divergent B) Cunvergﬂnt C) Cannot predict D) Oscillatory
i L |
: gii) The series. —+ —+ 5+ e 1S
H g6 Ay Di : t iy B) Convergent C) Oscillatory D) None of these
ER- A) Divergen e o

- . L *_ 1 — k ke k
iv) Ifan infinite series 2.u, is convergent and if o gl B e il

) ek B)ki# ks e (04 Marks)
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x-—-l' ‘Y 2—2——5—' andthep,lane Sx+4y#22 ity

A) Intersect at an angle n/4 B) Intersect at an angle 1:!'6 a2
-C) Are perpendmular D) Are parallel

The direction cosines of x, y, z axes are respectively

A) (=11, 1) (1, -1, 131 {8 £ 1 -1) B) [J—IE*:O,OJ (ﬂ::}l‘-—z—,ﬁ) [010:"—}—5]

= C) (1,0,0)(0, 1 ,0)(0,0,1) D) (1,-1,-1) -1, 1,-1) (-1, -1, 1)
i G (gl
iii) A point on a line 2— : i is
A) (-1,0,6) B) (1,0, 6) C) (-1, 0, -6) D) (1, 0, -6)

iv) A line perpendicular to plane is
A) Perpendicular to all the lines in the plane
B) Perpendicular to one set of parailel lines in the plane
C) Perpendicular to exactly one line in the plane

D) A line can not be perpendicular to the plane (04 Marks)

b. Find the angle between the lines AB and CD, where
A=(1,2,3), B=(4,5,9, C=(2,4,6), D=(,7,8). (04 Marks)
¢. Show that the points (1, 1, 1) (2, -3, 11) (4, -2, 4) (1, 0, 4?\&{;1&: co-planar. Find the equation of
the plane passing through the given points. ) (06 Marks)

d. Find the shortest distance between the straight lines’ 3
X—3 = i =8 A 3 o
] ( &
X+3 _y+l z2-6 )
R 2.

(06 Marks) -

f('j;-\

8 a. Choose the right answer : 3
i 3 r-up with p = Qﬁi (0, 0, 0), x=t,y=2t—3;, Z= 3t—5Sthen T att=1

\

Y e =2k B) i+ 2j + 3k Q)i+j+k D)i—j+ 2k

i) Recognize the meaningless expression, for F = vector function and ¢ = scalar

function
SO A) grad (div —) B) grad (grad ¢) C) curl (gtad 13) D) div (grad ¢)

e ' i) Curl (curlF) is
IR ~=__";., zj;. md (d.,w F) C) grad (div F’)-'vﬂF D) (curl)’ F

N \ vector point function, recognize the true statement : TR
u %ﬁﬁﬁ“mﬂ < B‘) ? F F’V C} V- ?F Vix ‘E‘F m‘?ﬁ =

L T

L= LSRR Fa



